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y

Answer all questions in Part I & three (03) questions from Part II.

01.
02.
03.
04.
05.

06.
07.

08.

PART I

Differentiate Assessment and Evaluation.

Explain ‘Aims’ and ‘Objectives’ giving suitable examples.

Explain “positive skewness’ of a frequency curve using a diagram.

Explain in bfief the difference between achievement test and intelligence test.

Explain the following using examples.

a. Histogram

b. Frequency polygon

Describe in brief what is school based assessment.
Define Z-score

b. A student has obtained 65 marks for mathematics. If the arithmetic mean
and the standard deviation for mathematics are 45 and 10 respectively,
What is the Z-score corresponding to above 65 marks?

Citing an example explain why the median is not the best measure of central

tendency for achievement scores.

(8 x 5 = 40 marks)



09.

10.

PART II

Open Essay, structure essay and objective tests are used to measure cognitive
devélopment.
i. Explain each of these tests using one eXample for each type.

(03 marks)
ii. Discuss two advantages and two disadvantages of each type.

(12 marks)
iii. State the levels of cognitive domain and discuss using examples what type

of tests is more suitable to measure each level of cognitive domain.

(05 marks)

Marks obtained by 30 students in an year end examination are given below.

41 [ 12 132 | 51 (49 (4743 [34 [ 14 | 27
57T |44 1 45 | 56 |24 [ 40 [ 53 | 54 | 47 | 47
69 | 51 |75 | 34130 33|63 | 72 | 40 60

i Prepare a frequency distribution for the above set of marks using 41-50 as
one of the class intervals.
(03 marks)
ii. Calculate the mode and the median of this distribution.
(05 marks)
iii. Calculate the arithmetic mean considering the assumed mean to be in the
class interval 41 — 50.
(06 marks)
iv. Find the standard deviation of the abéve set of marks.

(06 marks)



1. i

iii.

2. i
.
13. i
i.
a)
b)

What is meant by ‘Psychomotor Development’ of a child.

(02 marks)
State Simpson’s classification of objectives in the Psychomotor Domain.

(04 marks)
Describe in brief, the two main sections evaluated under Psychomotor
domain.

(06 marks)
Citing examples explain a method used to measure each section.

(08 marks)

Explain briefly three (03) basic characteristics of the normal probability
curve. (06 marks)
Marks obtained by 2000 students in a test are distributed according to a
normal probability curve. The arithmetic mean and the standard deviation

of the distribution of marks are 50 and 10 respectively.

~a) Ifthe best 5% was given A grades, calculate the minimum limiting

marks of the A grade.

(07 marks)
b) Calculate the number of students who scored more than 35 marks.

(07 marks)
What is meant by correlation? (06 marks)

Given below are marks obtained by ten (10) students for Mathematics and

Science.

A B C D E F G |H [ J

Mathematics | 50 | 51 37 (54 |51 62 |24 |51 68 |43

Science 40 [43 [40 |50 [48 |69 [39 |48 |79 37

Calculate the Spearman Rank difference correlation coefficient between
Mathematics marks and Science marks. (11 marks)

Interpret the result. (03 marks)



14.

Write short notes on any four (04) of the following.

i.

ii.

iii.

V.

vi.

Vii.

Sociometry

Norms and educational evaluation.

Blue print and its importance.

Measuring achievements in the affective domain.
Diagnostic testing.

The use of Ogive Curve.
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